GVG’2022 Test-02 Example CZ

1. Najdéte stredy vSech kamer
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které promitaji bod [1,1,1]" v prostoru do bodu [1,1]" v obraze.
2. Mgjte matici homografie
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Najdéte parametr a, aby se bod v obraze reprezentovany i, = [1,1]" zobrazoval do nevlastniho

bodu.

3. Méjme pifmku [ v P? reprezentovanou vektorem 1= [1,0,1]" a homografii
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kterd ji zobrazuje na piimku [’. Najdéte bod na primce [, ktery se homografii zobrazuje do
sebe.

4. Mé&jme body x = [1,0,1]", y = [1,2,0]" a z = [0,1,1]" v redlné projektivni roviné. Najdéte
piimku [, kterd je v kanonicky pridruzené afinni roviné rovnobézna s primkou prochazejici body
X,y, a kterd zaroven prochéazi bodem z.

5. Co musi splnovat parametry v nasledujici matici homografie H, aby H zobrazovala piimku
1=1[0,1,1]" na nevlastni ptimku. Najdéte viechna omezeni.
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1. Find centers of all cameras
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which project point [1,1,1]" in space into point [1,1]" in the image.

2. Consider the homography with the following matrix
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Find the parameter a, to get point [1,1]" mapped into an ideal point.

3. Consider line [ in P? represented by 1 = [1,0,1]" and homography
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which maps line [ onto line [’. Find the point on the line [ that is mapped onto itself.

4. Consider points x = [1,0,1]", y = [1,2,0]" and z = [0,1,1]" in the real projective plane.
Find the line [ which is parallel (in the canonically associated affine plane) to the line passing
through points x,y and such that [ passes through z.

5. Find all constraints on parameters a, b such that the following homography with matrix H
would map line 1 = [0,1,1]" onto the ideal line
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